needty

06723777 1811
SOFTWARE CHECKED OCT. 14+1974» RAH
NEW COMM DERUG FATCH I

\
( ABRORT

GET-#F933 L. IFE

LIST
LIFE

0010

DIM XC33+331y¥YL33,330

0020

0030
0040
0030
0060
0070

DIM I$C1113,CHC111T,Z%01110
F=0

ON  ERROR  THEN 400
L3=L4=HE=Ho=33

HB=H4=1

L 1=l 21

0080
00%0
0100
0110
0120
0130

Hi=L3

HR=1 4

MAT X=ZER

Ge=F=0

G9=100

FRINT "ENTER FATTERNS®

-

0140
01530
0160
0170
0180
0190

X1=X3=1
T$C1EX3T=mn

INFUT "2, T$LX30

IF I$EXZIXIA="8" THEN 240
IF I$UX31="G0" THEN 470
FOR X2=X3 TO LEN(I$)

0200
0210
0220
0230
0240

250

IF T$CX2iX20#" " THEN GOSUR 880
NEXT X2
X1=X1+1
GOTO 150

FOR X2=X3 TO LENC(I%$)

IF I$EX2iX23="»" THEN 290

02460
0270
0280
0290
3300
0310

NEXT X2

FRINT "CAN‘T FIND COMMAL®
GOTO 130
Ch=T$LXI+LIX2-11
X4=UAL(C$)

Ch=T$CX24+11]

0320
0330
0340
0350
0340
0370
03890

039
040

0410
0420
0430

XH5=UAL(C$)
IF X4<1 0OR X4:HS OR X4RINT(X4) THEN 380
IF X%l OR X3»Hé DR XSHINT(XS) THEN 380
X1=X4

X3=X5

GOTO 1350

FRINT "INVALID NUMBERS"

S0T0 150

BRI 0" rror ROUTINE

IF REF(6)=81 THEN 450

F=REF (&)

IF F#1 THEN ON ERROR THEN ©

0440
0450
0460
0470

0480
0490

RESUME

C="0"

RESUME

FRINT

IF LENC(Z$)Y) THEN 510
Zh="g" Y

0500
0310
0520
0530
0540
0350

L9=1 AN
PRINT

GOSUR 960

G,

FOR G=0 TO G

L1=L3~1

_

0560
Q570

FaS ol o Val

H1=H3+1
L2l 41

1’y ...1 1 4 1 1



Woud TIN LR 2 A R A LR

0550 L1=L3~1

(0560  Hl=H3+1
0570  L2=L4-1
0580  H2=H4+1
0590  H3=H4=1
0600  L3=HS

L0610  La=Hé

(0620 Fr=0

0630  MAT Y=X

0640 MAT X=ZER

0650 IF L1l OR L2 OR HIHHS OR H22Mé6 THEN 1130
0660 FOR Xi=L1 TO H1

0670 X3=X1~1 MAX Li1+1

0680 X4=X1+1 MIN Hl-1

Q690 FOR X2=L2 TO HZ

0700 XG=X2-1 MAX L2+1
0710 X6=X2+1L MIN H2-1
0720 T=0

0730 FOR Y1=X3 TO X4

0740 FOR Y2=X35 TO Xé

0730 T=T+YLYLe Y2

0760 NEXT Y2

0770 NEXT Y1

0780 IF T=3 THEN GOSUR 880

0790 IF T=4 THEN IF YLX1:X21 THEN GOSUR 880

[ 0800 - NEXT X2

0810 NEXT X1

0820 GOSUR 9460

0830 IF F THEN 1330

0840 IF  NOT F THEN 1380
0850 NEXT G

0880 G=GY

0870 GOTO 1580

0880 REM CELL ALIVE
0890 XOX1yX21=1
0900 L3=L.3 MIN X1
0910 L4=L4 MIN X2

0920 H3=H3 MaxX XI
0930 H4=H4 MAX X2
0940 F=P+1

0950 RETURN

0960 REM FRINT
0970 L8=0

0980 FOR X1=1 TO LEN(Z$)

0990 IF ASCOZHLX1T)=8 THEN LB=L8+1
10060 NEXT X1

1010 FOR X1=L3 TO H3

1020 LQO=0

1030 FOR X2=L.4 TO H4

1040 TF XEX1»X21#1 THEN 1070

1050 FRINT TARC(X2-L.4)KLP+HL.0) 5245
1060 LO=l.0+L8

1070 NEXT X2

1080 FRINT

1090 NEXT X1

1100 FRINT "GENERATION'G'"FOFULATION'F
1110  PFRINT CHR$(10)5
1120 RETURN

1130  REM ADJUST

1140  AL=INTC(L1+H1)/2)
(1150  A2=INTC((L2+H2)/2)

1160 A3=INTC((L1+HED /2D

1170 A4=INT((1+HOY/2)

1180 Al=A3-A1

1190 2=04-02

1200 IF NOT Al THEN IF L1<2 THEN 1620
1210 IF  NOT A2 THEN TF L2<2 THEN 1420

1230 Hi=H1-1

(1220 FRINT "ADJUSTING BY"AL"»"A2
1740 [ s P M g TR |



o A WON

1210

L 1% ¥ L LI L s o Gase ofo

IF NOT A2 THEN TIF Lﬁié THERN iéﬁo

e Neu dhem T

(1220
1230
1240
1250
1260
L1270

PRINT "ANJUSTING BY'AL"y"A2
HimH1-~1
H2mH2~1
FOR Yi=lL141 TO H1
X1=Y1+Al
FOR_Y2=L2+1 TO H2

(1280
1290
1300
1310
1320
1330

X2=Y2+A2
IF YCY1sY2I1=1 THEN GOSUE 880
NEXT Y2
NEXT Y1
GOTO 550
REM INTERRUFT

1340
1350
1340
1370
1380
1390

INPUT "WHATT "y 14

Fa()

IF I44°G0" THEN 1400
IF G=G% THEN 8350
G9=G2+100

GOTO 540

1400
1410
1420
1430
1440
1450
| 1460
1470
1480
1490
1500
1510

IF I$="STOF" THEN STOF
IF I$="END® THEN END
IF I401331="0I8" THEN 1530
IF I%="SEE" THEN 1460
IF I$C1:33="RES" THEN 10
GOTO 13580
FOR X1=1 TO HS
FOR X2=1 TO Hé
FRINT USING "H#DD"iXIX1sX21
NEXT X2
FRINT
NEXT X1

1520
1530
1540
1550
1560
1570

GOTO 1580 [

INFUT "ENTER DISFLAY CHARACTERLS) ¢4
IF LENCI$)Y THEN Z4$=14%

INFUT "ENTER SPACING: 1 OR 2... "»1%
IF I$4"1" THEN IF I$#"2" THEN 1580
Le=Val (I$)

"y I

1580
1590
1600
1610
1620
1630

REM

FRINT

FRINT "NOW "5
GOTO 1340

FRINT "LIFE NOW TOO WIDESFREAL TO CALCULATE"

GOTO 1580

1640

ENID




